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(1) 0~15FETDIE (2) 6L EDFRIE
10388 1688 288N 10388 16EEN 278N
0 = 0x0 = 0b 16 = 0x10 = 1 0000b
1 = 0xl = 1b 32 = 0x20 = 10 0000b
2 = 0x2=  10b B4 = 0x40 = 100 0000b
3 = 0x3=  11b 128 = 0x80 = 1000 0000b
4 = 0x4 = 100b 255 = (xFF = 1111 1111b
5 = 0x5 = 101b 256 = 0x100 = 1 0000 0000b
B = 0x6 = 110b 512 = 0x200 = 10 0000 0000b
7 = 0x7 = 111b 1024 = (x400 = 100 0000 0000b 1K)
§ = 0x8 = 1000b 65535 = OxFFFF = 1111 1111 1111 1111b
9 = 0x9 = 1001b B5536 = 0x10000 = 1 0000 0000 0000 000Ob (B4K)
10 = 0xA = 1010b 1048576 = 0x100000 = 1 0000 0000 0000 0000 00OOb C1M)
11 = 0xB= 1011b
12 = 0xC = 1100b
13 = 0xD = 1101b
14 = 0xE = 1110b
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Z 4DV FICEENREH>TVNDET

10344 16345 238 X
65 41 1000001 A
66 42 1000010 B
67 43 1000011 C
68 44 1000100 D
69 45 1000101 K
70 46 1000110 F
71 47 1000111 G
72 48 1001000 H
73 49 1001001 I
74 4A 1001010 J
75 4B 1001011 K
76 4C 1001100 L
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UTF-8

Shift JIS
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2EWNCEL ERLKLIBBADTCTI6EREEZXLLKED
a X FEEEXFI—F \

1ISO-2022-JP (LA B
JISO—F) TEXT &,

//////' 0x3026

EUC-JPTRT &,

XEFEES JIS X 0208

S S /2 TId 16X 68 Df = 0xBOAG
LI& > BISFETOXTE /— | shift JISTHRTL.
0x88A4
\ ~
WFEHES Unicode T | — UTF'SS;E?é?ts
(%, U+611B DALiEIC
/ OxE6849B

http://d.hatena.ne.jp/snaka72/20100710/SUMMARY_ABOUT_JAPANESE_CHARACTER_CODE



8%) [byte_codes.ipynb]

1 AEa2—7ARRDRIRICDOWNT

1.1 EF/HAE

In [3]: g = 'B'
bytes = s.encode( 'utf-8")

In [4]: bytes

outf4]: b'\xe6\x84\x9b’

C

an

16ETE

In [13]: print(*["{0:x}".format(x) for x in bytes], sep='")

e6849b
(R ABBFEHAT2ETEFIL

In [14]: print(*["{0:b}".format(x) for x in bytes], sep='")

111001101000010010011011
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